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1ICM Unit 7 Review Trigonometry
1. If (3,-7) is @ point on the terminal side Of an angle 8, find the exacCt Value Of each
Of the SiX trigohometriC funhctions.
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2. Ih what quadrantis...

a. cos@ >0 ahd tand <0 b. cotd >0 and secd <0
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3. Finhd the exact Value Of each of the remaihing trig fuhctionhs Of 8.

a. COS8=-3/5,6= quadrant III b. tah 8 = -2/3, Sih 8>0
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5. Find a positive and negative conterminal angle for eaCh given angle.
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6. Given o, determine the exact Value of each Of the trig ratios. 2
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8. Cohvert 110 tO radians.
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9. Convert=todegrees. LI (D" _ |24

10. Find the following Values:

3. sin” ( ) b. cos™?! e) C. tan~1(-1)
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11. {Jse the triahgle to find the exacCt Value Of the 6 trigohometriC ratios:
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12. Find the missing ahgles ahd sides for each triahgie.

a. R b. A 2o B

\\,_lq-z/o e

i [
e BB \SH2 ] o A

SinT¢° _ sin v g .
ETERNT r= 3%8\«:(']7@29% 32.8] t‘r"‘f:—_fmgi:?z(\ﬂ(a\%(
P.— S‘n"(Q'GS"ﬂ-’&O - ‘ C Sq Z
K/.—’ .m 33’, © _ _(800 Sq ‘LO ——_Iq Z {"IZ

You are 50 Feet From e SCreen at a drive-in movie. Your eye is on a horizontal
line with the bottom of the screen and the anhgle Of elevationh to the top of the
sCreen is 58°. How tall is the screen?
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1¢4. Fire towers A and B are loCated 10 miles apart. Ranhgers at fire tower A spot a
fire at 42°. Rangers at fire tower B Spot the Same fire at 64°. How far from

tower A is the -Flt)“:e t0 the hearest tenth Of a mile? - S a—
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15. SketcCh the foliowing functions. SpecCify the domaih, rahge, amplitude, period,
phase shift, ahd asymptotes if applicable. Jdentify the parent funhction, anhd list

the trahsfortations onh the parent function to obtain the given Func'c:on ot k- TVq— “‘of
a. g(x)=-3sin(x- ) c. glx)=3tan2x R - ‘W; @03 i)
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16. Find the equatioh of the following graphs:

17. A pillar Of height 226 £t Casts a Shadow 360 £t long. Find the meas%re

18. Lilly is a lahdscaper who is Creating a tnangb%r planting garden.
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angie of elevation of the sun.

T RATEIED
not refl.

3

N s t z
RO f
t e 2 3w 25
,}é};&
amp= | L = —(oS2X |
bl ilihadasil
1w
pa= T ==
B 2w B=2
Of the
Fant = 4db
g= 3. EX

homeownher wants the garden to have two equal sides ahd conhtaih ah ahgle of

135°. The longest side Of the gardenh must be exactly 5 m. How iong is the,

plastic edging that Lilly heeds t0 surround the garden?
~1350= HS°

X_ABEDN X 100’
a?-SO .48

:2:282.S°

ernw»
Sinaa.5° - Sini3s”

X
=4 Y= Sin2. é a.71
19. The average monthly temperature i Gavanhnah is given in the tabfe’ eﬁow
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Month Jan. | Feb. | Mar. | Apr. | May | June | July | Aug. | Sept. | Oct. | Nov. | Dec.
1 2 3 4 5 6 7 8 9 10 11 12
Temperature
(Fahrenheit) 489 1518 | 59.2 606 73.5 | 79.1 81.8 | 81 76.6 673 | 59.1 51.7
% fadian Mele 3k
a.  Determine the sinusoidal regression equation. Y= 1¢-§5] sin

b. Determine the period ahd amplitude (round to 2 deCimal places)
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20. The amount Of light a loCatioh oh the Earth receives from the Sunh changes
each day depending upoh the time Of Year ahd latitude Of that location. The
amount Of daily suhshine Kanhsas City experiences has been recorded and is
modeled by the following equation: y=2.8 Sin(0.02x-1.38) + 11.97 Determine
the amount Of light if it were Qctober (X=10).
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